Monday 19t June
| can add multiples of 10 to 3 digit numbers.

In a school hall, there are 119 giris and 80 boys.
How many pupils are there altogether?

How can you solve this? Discuss with an adult.



You can use the counting on method you used
last week when adding 2 2 digit numbers.

Count on In tens from 119

119,129, 139,149,159,

- ()

Which digit changed in the answer?



Now practise using these:
40 + 928=

608 + 80=

How would you explain adding these to one of
your friends?



Have a go at the worksheet.

Have a go at the challenge.



